[image: image1.jpg]poo bl il Glal o)~

Kom aX 3

Cai\’
M’/‘bb({u ,/)/"JouJ‘_)) &l

(e T )3y A

(=91 ) s 99/?
(I\)’:.A-Q; ) /\'/;'}/‘)) A43
M WJ;,;/L;/?_

/Am/ "(AmP +(A- £)m,7_md)

@s = 82my 4 AWy ]

D A"Q;}LIZLLE, s
Eg N

sm et = (é&zmpnwm m)

ML{ J |
Eq=Q=0mct
%;;: <My€+ ”)Sr+2jm/} mt{) CZ)
T b el -4

13F LUJ};J\W)M

o
54
1

453
%

o <13 y __Jf
(‘;f;r) VSN wﬁ

.
6o

R Jw/(,

) < 5.10 ”cm&é/g

TP P
e 5 e





[image: image2.png]P AS

4
As e L

/\J‘B?' ("")Au Py
i . UR ‘S/L;—C—AL

% Up (t) = RALE)

Uy ()

4% =
A8 A na é Unt)55%) 45 24 -
() 53 o MmN G 2 036 5 5 /T8
o o BRI G
'. U)}”O"-l’:b) IAS o Jeo=500”td'p
_ A -503H
fo =7 ..
At g gl " 2, pods 085
(~ ) @S st a3
I# = 370”’A = 0’3,A

0
; Yy
Y 7

/

pln % LN R 2F 13
L O L‘“‘)\mu‘/\)";‘

= 415 th - So0
j; _ 45 Ha 707{ o
) =

By o ‘H.Lq\'.*ﬂp\i)\}ﬁ- Vi3

VAV AT Méwﬂ,»;»;;
. :A,.(.;J\;pj‘./jl/\f'pja‘/' ¢}

e’ 2
i 4> U Be e %) ks Wl
AP = ARy MG

% t s bdlen ) r

A




[image: image3.png]Jo
7 =
Ca l}e_: 2 (1~ c7_> o5t
0. $(1-C) 31
’V; 1,02
Ca= F,94 S
PR A Y
Q=g =g

h =F9y 4 36,2[.(40‘3

Tl Jy

-

772];\43 /Fs:m
s

s

v
- . Z
_fﬁ

7_—_— C’_- MS .g

7= b4t 07 ]

D T
T G5 0 A

t\t ' |

iy AP e ppT G

Z— =7 WUJ)\ ’J)\x)\
Tk
-C.:O//Lbé :é‘U

(;\ - 0,629 @-j

‘\‘ d’xﬂ}a;(;\’éﬂﬁl\ )’«d,g/s I3
Ca, \}ﬂ_ = CL\fb

V= &2 Mo
“ -2 »
\/ - 40—4'2')0 \ﬁ;(i
b - 5.70"2

S'\/b: w0 L '—LWMLj
105 ap s

Ukﬂ”/’"’“"! M) nabi A
0‘5‘1“‘ & () A
m e

«
— ™

2 =
7?-#*_‘ SMSZ>
¥ Fer i ot
‘L ‘77"){+P:msq_
-ﬁ:klf': JE;/?%

P:'ﬂ;g :E_V’g

e k=Yg 3
=

=
‘O& ~+‘l

Pl

i?.(.b_?): .\é- “'—‘/i
_e/t' Wy ﬁmff;’msiéi
PA
CAC AV 4—_&) e
—t_—+m5 —g< =
'/\kwwl//\lﬂ)&/HO/L_ﬁu;é
_k C-fﬁ
Ci=m, » Qs 3
Sl O S ettt
tze— VP =o
_dv. 51
Ea-?&_—_z
a'—3<'l‘cz)
-
= 1C, = <





[image: image4.png]:7\“)‘ o/y_év'

QY- @‘] - é/#? /D—(

Ka.: Qre“}
PKQ = - &ZKQ

o
J/)&)}ﬂ’oﬂd’ww’w /2

X G0+ Ma+H
CoHirCaok, oM SRl
. oﬁu-\

LJ/QL,PU

/_‘\
Mch/@

nloH7, = [Uf/J(\/a'« V)
Ke _ ( Vq+ V\,)

T THye)

(o), =48 (e ) s

T peh e gt

LSk

[4)
o X g
[ v (o),

Ay )vu}}//j’\’é"’
Mg + Mot = NIOH) ~

CH(
Npet = NioH)v S
Mﬂ*ﬁb s

YI(0H ) v

=1

¥

T - wiclol
& Jq J9 o
LR P ]
L J1
=Q—9'J—§+%ﬂ)g.z
%;:—L‘(U ’c:-__f
Ljiz__ +/<‘T qz-rh B @ I3t 1
o)

4’\5‘?-‘;”;-_/:_-’"5&_)‘.«-?/4
o Rue 3 g sl 5te

T. = ¢ /Le
T2= q_n'!. Lc
T* e
T yTie .
@ 3o 2 oty el

4 T T

C:D—- :_Y_\/l___

v M.V /IV{ 422MM
‘wm=¢ MV

— o AL 0 A

Cg”g COOH + H, 0«)“ Cé 560(‘7)1‘ /'/30

o

r L@t ags

E)

V,uu)\ D) 4P J
C,,}/(COO/{+ B0 = CHy 00 + Hyo+
to M= /Ia,,.,,Q ) )l; © ’ 0
t -7 ) Lz
tp [Me-2g | %4 L Xp
T 2w
T = %ﬁ = y
m _p
')L? = nH;o* = [N3O+].V =/10 . 01/3.
s =2,5.10 LT
Xm = o = o *mel




[image: image5.png]) Bt o8 Amel —3 Hy=b0L10
nmed —y N (ney) %

:6 /V@}L""JI r\/j‘){EO/Lf/ {J-//J)
At

N(l‘) = Ny @
s (&) ww M2 o)

L'M‘/mome

JE z
ff)’)lﬁ-“é’ %/g_‘ s Ye N_‘éjﬁél)/z
o4 " L
N% ./L)j /u

guL:A(i'
_t
JUC - .A é? .'21 mj f«htd‘?
Jt ~ T ”,
¢ ! -At
AT A 7-‘,_L_ R mee) = Mo €
SRR med) _ GF t=hn 4,
Re ’m_o“ 2
(A4 5 e b )it = L2
C KC) & (RC "‘P—C):—O m({) é«(’fT{)(/ L3 4/1_
U J oo 3 Ledly 7 Go 03k th ntn2
fse wler b T
T=kd) (A= E) =¢”
"""" X -n
(C) ’_ﬁ_),g\ 3_-9,.,:./ CLL,‘_,..)(/& @_—,&J 4,_1},«
T =1ms AJBAJW\“’ 7777 -t 77»/&/»
N AT W) o1 =T
R \/IOO 7o
e -n 3 i1
P —0/004.——/(0

f - 40 UF =
/.,Z‘U -—}’)%4&“—”%4//0-3

RLC 0 t/‘\AJ MLW(“’J’W)EJJ‘ /i-} % -3
I S <
uc*U[ EN ) A= J_“]
9 dy S J/ o
3 oedt I L
P— g T g
jd* kg 9 O
YT % Tre :3i-@
\

g




